
REACT_9405
REACT_264384

REACT_27271
REACT_264501

REACT_6776
REACT_264347
REACT_163919

REACT_2086
REACT_118614
REACT_121388

Posterior (+/− std error)

0.0 0.4 0.8

●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●

●

●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●

●

●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●
●
●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●

●

●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●
●
●●●●●●●●●●
●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●

●
●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●

0 400 800 1200

0.
00

0.
03

0.
06

Set

P
os

te
rio

r

●

●

●

● ● ● ● ● ● ●

0.002 0.010

0.
0

0.
2

0.
4

0.
6

p

P
os

te
rio

r

●

● ● ● ● ● ● ● ● ●

0.00 0.15 0.30

0.
0

0.
4

0.
8

α

P
os

te
rio

r

● ●
●

●
●

●
●

●

●

●

0.1 0.4 0.7

0.
08

0.
11

0.
14

β

P
os

te
rio

r

REACTOME: ELF human
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REACTOME: WIFI human
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REACTOME: RF human
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REACTOME: EMF human
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REACTOME: ELF mouse



REACT_325400
REACT_291032
REACT_359386
REACT_358096
REACT_304133
REACT_290376
REACT_358949
REACT_332323
REACT_272924
REACT_309926
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REACTOME: UMTS mouse



REACT_310872
REACT_309926
REACT_309674
REACT_286306
REACT_282915
REACT_351979
REACT_321348
REACT_362347
REACT_315548
REACT_341685

Posterior (+/− std error)
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REACTOME: WIFI mouse



REACT_287523
REACT_354542
REACT_354254
REACT_325400
REACT_334633
REACT_330516
REACT_329133
REACT_278552
REACT_315548
REACT_341685

Posterior (+/− std error)
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REACTOME: RF mouse



REACT_326042
REACT_319181
REACT_291479
REACT_311877
REACT_307833
REACT_327774
REACT_298941
REACT_292237
REACT_315548
REACT_341685

Posterior (+/− std error)
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